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ABSTRACT 

Rationale. Among the first line antituberculosis (anti-TB) drugs, 

the major drug incriminated in the development of 

hepatotoxicity is isoniazid (INH). The human N-acetyl 

transferase2 (NAT2) gene is mainly responsible for INH 

metabolism. This gene exhibits a hereditarily determined 

polymorphism. There is presently no study on the predominant 

NAT2 genotype among Filipinos. There are also no Filipino 

studies on the incidence of hepatitis and other adverse effects of 

first line anti-TB drugs.   

 

Objectives. To determine the predominant NAT2 genotype and 

its association with the development of hepatitis among Filipino 

children given first line anti-TB drugs (INH, rifampicin and 

pyrazinamide) and to determine the incidence of hepatitis and 

other serious adverse reactions to these drugs. 

 

Study Design. Prospective cohort study 

 

Setting. Tertiary government hospital in Metro Manila 

 

Study Population. Children one to 18 years old with pulmonary 

tuberculosis and normal liver function tests at baseline 

 

Methods.  Total bilirubin (TB), direct bilirubin (DB) and liver 

transaminases (AST and ALT) were checked routinely at baseline 

and at two, four, eight and 12 weeks after starting treatment. 

Within the first month of treatment, blood was also taken for 

NAT2 genotyping. The identification of the three NAT2 

polymorphisms that are associated with a slow acetylator 

status—481C to T (NAT2*5), 590G to A (NAT2*6) and 857G to A 

(NAT2*7) was carried out by polymerase chain reaction-

restriction fragment length polymorphism. All patients were 

followed up for a total of six months. The presence of any 

adverse effects like gastrointestinal symptoms, rash, hepatitis or 

drug fever was also monitored. 

 

Results. A total of 24 children [mean age: 5 years; 11 males] were 

included.   Majority (96%) were diagnosed by passive detection 

and mean Z score for growth was –1.38 (1 to –3).  No patient 

developed hepatotoxicity or any side effects to anti-TB drugs. In 

23 patients who had NAT2 genotyping, 39% and 22% were 

alleles homozygous for the NAT2*6 and NAT2*7, respectively. 

There was a combination of alleles in only three (13%) subjects. 

 

Conclusion. NAT2*6 and NAT2*7 alleles associated with a slow 

acetylator status were detected among our patients although 

the presence of these variants did not lead to any hepatotoxicity 

nor any treatment-related side effects. A larger study with 

broader genotype analysis is needed to confirm the present 

findings. 
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